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SN BADSD
HE: PMSSHE 7S
Sl BMHS B (=ERE-ED
5,299,959 6,162,632 862,673
2 253,673
p] 214,408
Al 398,450
- 4,433,428
HAsSISHH =5 539,266 408,844 130,422
Boss N8 539,266 408,844 130,422
BAsSH 2 247,256 169,494 77,762
201 Er29y| 133.814 117,294 16,520
01 AR ZElHI 93,326 76,806 16,520
O 1. gerssH| 16,814
—=AEX 20,000 * 10842 * 128 2,400
—TeE £l 250,000 * 37} 750
—-=§I| El 200,000 = 104 200
—~NREE S 120,000 ~ 12&€ 1,440
—St&EA ARE 9,456
- E5&X 44,000 * 58FA « 128 2,640
HEES 38,000 * 6EFA + 128 2,736
- HBHIS 90,000 * 18tA » 128 1,080
CEEH & ARS 250,000 « 128 3,000
—MIPE(S0L) 2,070 * 30F * 128 746
~£20| FFB2AN BDEYl 22,000 * 18] 22
—E5H| 300,000 ~ 6% 1,800
O 3. 2g=¢ 73,200
L 130,000 * 1004 23 = 128 15,800
—aisk 2% 160,000 * 1004 ZF% * 128 18,200
—motp| HESY
160,000 = 1204 2t& * 168 30,720
—ZFY 2H 160,000 * 8N A * 68 7,680
O 5. Sl 1,162
— 22| 8,000 * 3% * 44 * 128 1,152
O 6. gUxz 2,160
—F4D| 35,000 * 204 * 128 840
—= AP 110,000 104 * 128 1,820
02 22224l 38,488 38,488 0
O 1. 2223 % A 32,010
&I wva 900,000 » 128 10,800
—& - ol 2 500,000 = 128 6,000
-24 23 300,000 * 128 3,600
—4 - hg SAIDIA R 700,000 * 128 8,400
—RH0IEY OIEE 162,000 + 12& 1,944
—Hiag SHz 5,500 « 128 66
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7,000,000 * 18]

ES 7,000
—pEguRga 200,000 * 15| 200
O 3. A&RHISXH 6,478
—ANEBYISK A 100,000 * 12 1,200
—AHOIMBR| H#ALE 50,000 * 128 600
—FMIIHE B AL 40,000 * 128 480
—aZ| o® B 1,878
2N 22 2,000 * 128 24
SXEL: 8A2LE 150,000 * 128 1,800
HARS RS 4,500 * 128 54
—SOIHHAIAE BY A4aR
110,000 * 128 1,300
gt A=y 200,000 * 53] 1,000
03 #ALS b 2,000 2,000 0
O molg| BESY ATVE B
1,000,000 * 23] 2,000
301 YEBHT 720 600 20
12 J|Et2 A= 720 600 120
O SetoIBMBIER 22T O[HUE
20,000 * 3% * 128 720
307 BIZHOI & 51,600 51,600 0
05 DIzt e 51,600 51,600 0
O UBHAR 4,300,000 * 128 51,600
401 Al HIL S CHY] 60,000 0 60,000
01 A& 60,000 0 60,000
O BMSET 35 2l2UY BA
60,000,000 * 14! 60,000
405 Xt AHE S| 1,122 0 1,122
0 RN LSEH S 1,122 0 1122
O BUSED 35 WaSE {122
N LNE! 990,000 * 17 990
—D2HE 22N 132,000 * 174 132
HMEE TA T4 72,770 70,710 2,060
201 Y2 Y| 47,070 67,010 £19,840
01 Al 2IHI 41,140 62,530 A21,390
O 1. gsragy| 15,660
—HMSS SEOIAMK TA B M, @2
140,000 * 43] 560
—pyEs RS2 ME 8,000
— MBS DR (ECO-BOOK) R
3,500,000 * 1A 3,500
—mMsty OISR wE 150,000 + 128 1,800
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300,000 » 631
O 3. 2g=¢ 25,480
— 02t 5 130,000 = 110 2t& » 103 14,300
—45 52 130,000 = 100§ 2rZ * 58] 6,500
—ItE §2 130,000 * 671 22 * 6% 4,680
02 E3=2gHl 4,480 4,480 0
O H=BAUSISTAIESE 3l
4,000,000 = 12 4,000
O 288 ostse= 40,000 » 128 480
03 AIZ S 1,450 0 1,450
O +=g3e zno 2 TzD1RA, 29 1,450
203 R F=ab 2,700 2,700 0
03 Al M =&l A 2,700 2,700 0
O Bdstg A 3,000,000 * 0.9 2,700
207 =20 2l 22,000 0 22,000
01 22 ESH 22,000 0 22,000
O Basis: A SEII2E SEHE+E 89
22,000,000 = 14! 22,000
301 PtENS 1,000 1,000 0
12I1eed= 1,000 1,000 0
O SNS OIHIE &OIA 24 10,000 » 1009 1,000
HMES JEQD 843 ALY 69,500 26,900 42,600
201 £er2 gyl 68,500 26,900 42,600
01 At 22l 69,500 26,900 42,600
O 30 BAss AH
130,000 * 2604 2rF » 153 50,700
O S0l oM 7,800
—3AZ 30,000 = 108 = 43| » 63 7,200
—u sl 10,000 » 600N 600
OC =88 U9 50,000 » 6% = 42| « 9@ 9,000
O &g /38 N 2,000,000 * 12| 2,000
g BYssdH N 47,040 45,640 1,400
201 fer2 | 39,840 38,440 1,400
01 At &2l 39,840 38,440 1,400
O 1. g2 2,400
—23 M 80,000 = 300K 2,400
O 3. gg=¢€ 37,440
-5 BdssdY 23
130,000 * 2404 2= « 123 37,440
301 HEEHS 7,200 7,200 0
12IIEE24= 7,200 7,200 0
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10,000 * 128 * B0AIZH 7,200
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201 B2 19,200 25,600 £6,400
01 At22telH| 19,200 25,600 26,400
O 3. 2+ 19,200
—®0Pls = HETH
80,000 = 3004 & * 83 19,200
Husts Sotel B8 8,500 8,500 0
201 gl g| 6,500 6,500 0
01 At &elH] 6,500 6,500 0
O 3. 2g=¢ 6,500
—BusE SOl R4(MSDBEH)
130,000 » 58 « 108l 6,500
301 YBPED 2,000 2,000 0
09 SAHAIEIXI B2 2,000 2,000 0
O Bysts Solel ESNR (LS, WsIIE
#s 5) 200,000 * 108 2,000
= #=013H010] 17,000 17,000 0
201 LErS | 17,000 17,000 0
01 ALR BRI 17,000 17,000 0
O =9 g@i=ootdiol 29 8,500,000 * 23l 17,000
HOIRNUS NEMA(EEAY) 10,000 10,000 0
307 Qlztoi A 10,000 10,000 0
02 AIHBANYHE 0,000 10,000 0
O do2dlus NJ A 10,000
zexy 7Y 48,000 0 48,000
405 Xt &k S| 48,000 0 48,000
B EETET 48,000 0 48,000
O S2EIIVEX 48,000
Ao DRl &4 2,977,130 2,906,557 70,573
2 31,003
p] 214,408
Al 275,870
- 2,355,759
oAl HAH B4 - ES 1,075,051 1,140,220 AB5, 169
= 131,093
9| 214,408
Al 275,870
- 453,680
Hau =23 53 26,551 23,419 3,182
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200 * 2,00004 * 28] 800
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70,000 * 3JH L + 3§ 630
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70,000 * 32 * 28 420
—HAHEE UZ =8 5,000 « 5002 2,500
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) 2,500 * 2,0000H 5,000
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HH)EE 242 3,000 * 521 15
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O 3. 2g4g 150
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150,000 * 12 * 13| 150
203 @ RE Y| 1,350 1,350 0
03 A3 Z=XHREXY| 1,350 1,350 0
O HAW @ Y2HA 1,500,000 * 0.9 1,350
301 EtEEZ 500 500 0
12IIEIEa2 500 500 0
O EA2URofleda AKX ZA 100,000 » 54 500
307 @12+0| & 10,000 10,000 0
11T AMEEXNAYGER 10,000 10,000 0
O BAW MEZAQH X 10,000
AW OSE0IY KR (ZZAY) 20,500 20,500 0
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2 6, 150
307 Slz2tol & 20,500 20,500 0
| 8,200
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1 A SIS RA 2 E 20,500 20,500 0
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Al 7,160
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Il 9,550
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11 ABIEXAIRE X 23,870 23,870 0
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Il 9,550
Al 7,160
- 7,160
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Il 1,400
T 1,400

307 2i2+01 A 2,800 2,800 0
2l 1,400
- 1,400

HASIETANYEEE 2,800 2,800 0
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v 1,400
T 1,400

FAUROHEHE 2AY X (BEAY) 5,100 5,800 AT00
= 2,550
Al 2,550

307 212+01 ™ 5,100 5,800 AT00
= 2,550
Al 2,550

11 AZIETMEER 5,100 5,800 AT00
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255,000 * 20i& ~ 108 5,100
= 2,550
Al 2,550
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= 22,176
A 11,088
- 11,088
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ol SEIA(MENY, AAXNAS)(B2EANY) 6,590 4,332 2,258
v 4,613
Al 1,977
301 LB 6,590 4,332 2,258
p] 4,613
Al 1,977
01 Bl 2T =252 6,590 4,332 2,258
O S84 SHXAALY 6,590
p] 4,613
Al 1,977
s o8 HAE XR(EEAY) 127,336 130,553 23,217
p] 89,135
Al 19,101
T 19,100
307 B12+0I® 127,336 130,553 A83,217
7| 89,135
Al 19,101
= 19,100
11 AIBIZ XA EE 127,336 130,553 23,217
O = & AW X 127,336
p] 89,135
Al 19,101
- 19,100
s 8 HAE SAH KRAA(BEAIY) 11,268 11,268 0
p] 5,634
Al 2,817
= 2,817
307 2I2HOI 11,268 11,268 0
p] 5,634
Al 2,817
3 2,817
11 NEIEXANYEE 11,268 11,268 0
O &n % #AH IAY X 11,268
b 5,634
A 2,817
. 2,817
S0 4 HAW SAH XA (ABIEEAL) 2,692 1,656 1,036
Al 2,602
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Al 24,663
T 24,662
307 2I2HOI A 98,650 97,470 1,180
= 49,325
Al 24,663
- 24,662
05 It E = 98,650 97,470 1,180
O AUy & 2 98,650
= 49,325
Al 24,663
T 24,662
A TUacAd (BEAY) 163,340 160,006 3,244
Al 81,670
T 81,670
307 2120l A 163,340 160,096 3,244
Al 81,670
7 81,670
05 QIZtI EH = 163,340 160,006 3,244
O oy NEAEAY 29 163,340
Al 81,670
T 81,670
FAEUEER Z20Y 2H(BX 114,084 112,580 1,504
= 57,042
Al 28,521
- 28,521
307 Qizt0ol A 114,084 112,580 1,504
= 57,042
Al 28,521
- 28,521
05 Bt E = 114,084 112,580 1,604
O HAESEIN 208 2H (&S|, A2
&dl) 114,084
= 57,042
Al 28,521
T 28,521
HAEEUL T2 22 (0| 16,456 16,738 A282
Al 8,228
T 8,228
307 RiztOl A 16,456 16,738 2282
Al 8,228
T 8,228
05 BIZtRE =S 16,456 16,738 A282
O EAESHR Jj22H
SEEA) 16,456
Al 8,228
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HAHSEY 29 212,110 217,450 AB,340
307 2120 & 212,110 217,450 AB,340
05 pI2to st 2 212,110 217,450 A5,340
O HAUSSE 29 202, 110
O OIEHAWE S0|22H X4 (Z0IE00)A) 10,000
~S0|2E ¥ OHME 10,000,000 * 14! 10,000
HAHSSIE 2HRE 2L (EXAY) 2,000 2,000 0
7l 1,000
Al 1,000
307 120 & 2,000 2,000 0
pll 1,000
Al 1,000
11 A= XA X 2,000 2,000 0
O HAESS9 & XY HiAE 0P 29 2,000
7l 1,000
Al 1,000
HAEXSA X X (BEAY) 23,520 23,208 312
pll 11,760
Al 11,760
307 QI2t0| A 23,520 23,208 312
bl 11,760
Al 11,760
02 IZHAAAIR X 23,520 23,208 312
O HAEKSE A Q12| 23,520,000 * 1% 23,520
Il 11,760
Al 11,760
HAESDSOIIE0 S (EFAY) 166,232 164,042 2,190
| 83,116
Al 86,493
3 16,623
307 Q12+0| ® 166,232 164,042 2,190
7| 83,116
Al 66,493
= 16,623
05 DIzt et 2 166,232 164,042 2,190
O HAW SIS OI3IEHD 29 166,232
b 83,116
Al 66,493
= 16,623
HAHYDSOPIGHD SN (DI BRED) 7,600 10,900 £3,300
307 912+0] & 7,600 10,900 A3,300
05 DIzt 2 7,600 10,900 A3,300
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DEAY X 966,563 927,003 39,560
308 Xt X/ £HHI S 0| & 966,563 927,003 39,560
R ESIETVETES 966,563 927,003 39,560
O &1 WEFH N 105,485
O #gz AEH X 50,000
O ZSSM ME(UF) +2D 2¥ K& 34,387
O &n S43TAY X 776,691
ARDSNAME 29 270,000 260,000 10,000
307 e12+0| @ 270,000 260,000 10,000
EECEE 270,000 260,000 10,000
O MRZDSNVME 29 270,000
DY KA 295,564 387,852 A42,288
201 22 900 900 0
01 ALR B EIHI 900 900 0
O 1. gerag| 900
SETES 900
301 ErENZ 294,664 336,952 N42,288
01 ABIBE =362 294,664 336,952 242,288
O DS =YY XY
308,000 + 1,053¢ * 0.9 291,892
O ZSM(SAA 9 8D 5) D=9 I
308,000 * 10 * 0.9 2,772
Dw fa08 X2 98,952 103,209 A4,257
308 XX HHSOIE 98,952 103,209 A4,257
WA 2.7 DSUSHIN S 98,952 103,209 A4,257
O 1D 24D UKH 23 98,952
210l ROBl AOYE 2 20,000 20,000 0
307 QI2toj & 20,000 20,000 0
02 SIZEAMAE R 20,000 20,000 0
O O{RI0l ROjE YOIYE 2
200,000 * 100 20,000
YOIESD CH2HTY AY I 251,000 0 251,000
308 XX/ EHXI S0 & 251,000 0 251,000
R EPET EEES 251,000 0 251,000
O Z0iE UexYY AY I 251,000
497 AT 29 1,700,126 978,831 721,295
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= 81,720
Al 81,720
3 499,455
SARsAE I20Y 29 88,651 34,358 54,293
LR 85,701 33,008 52,693
01 At 22| H 77,700 29,633 48,067
O 1. YeragH| 19,280
—SE 2 i 44,000 * 1004 440
—sao 70,000 * 504 350
-RoEs2 32 1,810
St ATH 60,000 * 2474 1,440
SMX AR 4,000 * 3074 120
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2B 5,000 * 408 * 13| 200
! 10,000 * 4052 * 18] 400
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B JEE M 3,000 * 2,0000H 6,000
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0 3. 2gag 58,420
—SASHAF DALY
130,000 * 4JH2F * 1238 * 23] 12,480
—gssY ALY
130,000 * 4H2E » 43 » 13| 2,080
~EQS2 BALY 130,000 * 85 * 33 3,120
—0{2I0] S37 ZALY
80,000 * 2HAE * 393 6,240
—WES DA DALY
130,000 * 42 & * 18] 520
—OlRI0ISASl 2AaE 130,000 » 43| 520
—HAWSEAS BASE 130,000 * 103 1,300
—SXEAS BASE 130,000 * 83 1,040
—TAB F2A YU SH g S o2ssYy
LA 300,000 * 3 900
—BOPIs SHEAHIA(ZASXIIZ S
NE2IY SASE) 3,840
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—ROIHE SHBAHIA(=QIEXDIZ SA
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—ROIHs SABAHIA(BY S4+8D SA
D203 YAE)80,000 « 1K * 83 640
~UENE S5 T2IY BAMLY 4,000
WS 28 S 700,000 * 23| 1,400
CAE 23 130,000 * 203 2,600
—BM)| S ZAY 130,000 * 103 1,300
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100,000 * 13l 100
— Q4 HR0L SHEIAHIA
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100,000 * 128 1,200
YANFLY 29 BF 7Y
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180,000 * 47§28 %t « 185 9,360
—UXEnS waszd dieg
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201 B4 31,176 27,790 3,386
01 AR E2lH] 31,176 25,270 5,906
O 1. YptagH| 526
—& ol 44,000 = 40K 176
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O 3. 2g44d 30,650
~ENSTR TASY
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= 40,860
Al 40,860
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—Qoixtrg 73,280 * 3 » 5 x 23 2,199
WS - 23 - F2AHIA HMB(SLP0RI00SAHS) 101,308 76,330 24,976
SEAN2IE Z20Y 2% 34,310 27,313 6,997
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